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1. O is the centre of the circle.If LZO=65°,find LF

(i) 152.5° (ii) 157.5° (iii) 177.5° (iv) 147.5° (v) 162.5°

2. O is the centre of the circle. If ZCOE = 84°, find 4B
B

(i) 52° (ii) 57° (iii) 42° (iv) 72° (v) 47°

3. O is the centre of the circle. If ZDOC = 102° and ZEOC = 96°, find £DCE
D

E

(i) 91° (ii) 111° (iii) 81° (iv) 86° (v) 96°



4. Find the missing angle in the following figure?
F

G

(i) 42° (ii) 47° (iii) 32° (iv) 37° (v) 62°

5. O is the centre of the circle and OD = CD. Find £COD

N

(i) 75° (ii) 90° (iii) 70° (iv) 60° (v) 65°

B

6. O is the centre of the circle and OF = EF. Find ZFOD

|

(i) 120° (ii) 125° (iii) 150° (iv) 135° (v) 130°



7. O is the centre of the circle and OD = CD. Find reflex £ZDOB
B

\

(i) 250° (ii) 240° (iii)) 255° (iv) 245° (v) 270°

8. O is the centre of the circle.If LF+ LGOH = 190.5°,find ZGOH
H

(i) 127° (i) 132° (iii) 157° (iv) 137° (v) 142°

9. O is the centre of the circle. If ZKML = 59° and £ZMKN = 30°, find w°, x°

L

s

(i) 31°,61° (i) 71°,41° (iii) 91° 51° (iv) 61° 31° (v) 51°, 31°



10. O is the centre of the circle. If £JOK = 76°, find the angle ZL
]

M
(i) 38° (ii) 68° (iii) 53° (iv) 43° (v) 48°

11 Two circles touch internally. | is the centre of the bigger circle and lies on the smaller circle. If ZFGH = 69°, find
" LF

(i) 26° (ii) 21° (iii) 36° (iv) 31° (v) 51°

12. ADEF is inscribed in a circle with centre O. If ZDOE = 128° and LEOF = 156°, find ZFDE

(i) 108° (ii) 83° (iii) 78° (iv) 93° (v) 88°



13. AJKL is inscribed in a circle with centre O. If £JOK = 149° and £ZKOL = 162°, find £)JKL

(i) 29.5° (ii) 54.5° (iii) 24.5° (iv) 39.5° (v) 34.5°

14. AHI)is inscribed in a circle with centre O. If ZHOI = 143° and £10) = 154°, find £IJH

(i) 86.5° (ii) 76.5° (iii) 81.5° (iv) 71.5° (v) 101.5°

15. O is the centre of the circle. If LGHI = 124°, find £10)

(i) 98° (ii) 78° (iii) 83° (iv) 73° (v) 68°



16. In the given figure, O is the centre of the circle. If LZGJH = 47° and £0G) = 29°, find £IH]

]
(i) 119° (ii) 129° (iii) 124° (iv) 149° (v) 134°

17. In the given figure, O is the centre of the circle and CD is a diameter. If ZDOF = 55°, find £CEF

(i) 72.5° (ii) 77.5° (iii) 62.5° (iv) 67.5° (v) 92.5°

18. In the given figure, O is the centre of the circle and FH is a diameter. If LZGEF = 61°, find LGFH
E

G

(i) 59° (ii) 39° (iii) 34° (iv) 29° (v) 44°



In the given figure, O is the centre of the circle and BD is a diameter. If ZAOD = 103° and £0DC = 63°, find

19 £LBCA + LCBD

(i) 75.5° (ii) 65.5° (iii) 95.5° (iv) 70.5° (v) 80.5°

In the given figure, O is the centre of the circle and HJ is a diameter. If LGIH = 27° and £ZHGI = 64°, find £JHI +

20.
0 LGl

(i) 99° (ii) 89° (iii) 104° (iv) 119° (v) 94°

21. In the given figure, O is the centre of the circle. If LZFEG = 42° and LEGH = 39°, find £GIH
E

G

(i) 114° (i) 99° (iii) 129° (iv) 104° (v) 109°



22. O s the centre of the circle. If Arc CE = 2 Arc EF and £COE = 97°, find LCFE
D C

(i) 53.5° (ii) 58.5° (iii) 48.5° (iv) 78.5° (v) 63.5°

23. O is the centre of the circle. If Arc Gl = 2 Arc I) and £GOI = 95°, find £)GI

F

(i) 38.8° (ii) 53.8° (iii) 33.8° (iv) 28.8° (v) 23.8°

Py

24. O is the centre of the circle. If Arc IK = 2 Arc KL and £ZIOK = 74°, find £IJK

(i) 148° (ii) 143° (iii)) 173° (iv) 153° (v) 158°



In the given figure, a pentagon is inscribed in a circle with centre O. Given I = JK = KL and ZIJK = 140°. Find

25.
£LKOL

(i) 45° (ii) 55° (iii) 50° (iv) 70° (v) 40°

In the given figure, BC is a side of regular 5-sided polygon and BD is a side of regular 9-sided polygon inscribed in
" a circle with centre O. Find £ZBOC

=

(i) 87° (ii) 72° (iii) 102° (iv) 82° (v) 77°

In the given figure, FG is a side of regular 10-sided polygon and FH is a side of regular 5-sided polygon inscribed
" in a circle with centre O. Find £ZFHG

(i) 48° (ii) 18° (iii) 28° (iv) 23° (v) 33°



In the given figure, EF is a side of regular 8-sided polygon and EG is a side of regular 6-sided polygon inscribed in
" a circle with centre O. Find LEFG

(i) 35° (ii) 30° (iii) 40° (iv) 60° (v) 45°

29. In the given figure, O is the centre of the circle, and OL L HI. If £ZHI) = 36°, find £HO]
|

'
(iy 87° (ii) 72° (iii) 82° (iv) 77° (v) 102°

30. In the given figure, O is the centre of the circle, and OL L HI. If £ZHIJ = 39°, find £OK]

(i) 61° (ii) 81° (iii) 51° (iv) 66° (v) 56°



31. In the given figure, O is the centre of the circle. If ZCAB = 46.99° and £LABC = 59.07°, find the angle LADB

(i) 83.94° (ii) 103.94° (iii) 78.94° (iv) 88.94° (v) 73.94°

32. Which of the following statements are true?

a) Equal length chords subtend equal angles at the centre of the circle.
b

)
) No two chords bisects each other.
c) The farther the chord is from the centre, the larger the angle it subtends at the centre.
)
)

d) Equal length chords are equidistant from the centre of the circle.
e) The longest chord of the circle passes through the centre of the circle.

(i) {c,d} (i) {b,a,d} (iii)) {b,a} (iv) {a,d,e} (v) {b,ce}

33. Which of the following statements are true?

a) Angles in the opposite segments are complementary.
b
C

Angles in the same segment are equal.
Angles in the opposite segments are supplementary.

)
)
)
d) Angles subtended by equal length arcs in two circles are equal.

(i) {a,b} (ii) {a,c,b} (iii) {a,d,b} (iv) {d,c} (v) {b,c}

34. The point of intersection of the angular bisectors of a triangle is

(i) orthocentre (ii) incentre (iii) centroid (iv) excentre (v) circumcentre

35. If an arc subtends an angle of x° in its alternate segment, then the angle is subtends at the centre is

o

(i) 2x° (i) X2 (iii)) x° (iv) 4x°

36. An arc subtends 90° in its alternate segment. The arc is

(i) major arc (ii) semi-circle (iii) quadrant (iv) major segment (v) minor segment

37. An arc subtends 127° in its alternate segment. The arc is

(i) major segment (ii) minor arc (iii) minor segment (iv) quadrant (v) major arc

38. An arc subtends 35° in its alternate segment. The arc is

(i) minor segment (ii) minor arc (iii) major segment (iv) major arc (v) semi-circle

An arc subtends 67° in its alternate segment. Its corresponding major arc subtends what angle in its (major arc)
alternate segment?

(i) 128° (i) 113° (iii) 123° (iv) 143° (v) 118°

39.



40.

41.

42.

43.

44,

45.

46.

47.

An arc subtends 68° in its alternate segment. The angle made by its corresponding major arc at the centre is

(i) 239° (ii) 254° (iii) 229° (iv) 224° (v) 234°

The angle subtended by the semicircle at the centre is

(i) 190° (ii) 210° (iii) 195° (iv) 185° (v) 180°

The angle subtended by the diameter at any point on the circle is

(i) 120° (ii) 100° (iii)) 95° (iv) 90° (v) 105°

Angle subtended by the major arc at the centre is

(i) right angle (ii) reflex angle (iii) zero angle (iv) complete angle (v) obtuse angle

Angle subtended in the major segment is

(i) reflex angle (ii) zero angle (iii) complete angle (iv) acute angle (v) straight angle

If the radius of the circumcircle is half the length of a side of the triangle, then the triangle is

(i) equilateral triangle (ii) obtuse angled triangle (iii) acute angled triangle (iv) right angle triangle

In the given figure, DE & FG are diameters of the circle. If ZDEF = 54° find, LEOF

(i) 72° (ii) 102° (iii) 87° (iv) 77° (v) 82°

In the given figure, 1) & KL are diameters of the circle. If ZILK = 24°, find £0OK]

(i) 54° (ii) 24° (iii) 29° (iv) 34° (v) 39°



48. In the given figure AC & BC are equal length chords of the circle. Find LCAB
A

(i) 55° (ii) 45° (iii) 50° (iv) 75° (v) 60°

49. In the given figure, JK is a diameter of the circle with centre O. If ZKJL = 36.75° and KL = KM, find £MLJ

L

(i) 83.25° (ii) 63.25° (iii) 53.25° (iv) 68.25° (v) 58.25°

50. In the given figure, O is the centre of the circle. If ZOFH = 48°, find £LG

(i) 168° (ii) 148° (iii)) 138° (iv) 153° (v) 143°



51. In the given figure, O is the centre of the circle. If ZEFG = 146°, find LOEG

(i) 61° (ii) 71° (iii) 86° (iv) 66° (Vv) 56°

52. In the given figure, O is the centre of the circle and BD is the tangent at C. If ZCDE = 38°,4LDCE = 37°, find LFCE
F

(i) 68° (ii) 83° (iii) 78° (iv) 98° (v) 73°

53. O is the centre of the circle. If LZDEC = 58.5°, find the angle £0DC

Cc
| |
E

(i) 41.5° (i) 31.5° (iii)) 36.5° (iv) 61.5° (v) 46.5°



54. Hl is the perpendicular bisector of side FG of AEFG. Given LEFG = 71° and £ZHEG = 36°, find LEGF
|

E

A

(i) 42° (i) 37° (iii) 47° (iv) 52° (v) 67°

G
H

55 In the given figure, AHEF is a scalene triangle. GE bisects ZHEF. Similarly FG bisects £ZEFH. Given £FHE = 116°,

find £LFGE
H
E F
(i) 163° (ii) 148° (iii)) 158° (iv) 153° (v) 178°
56 In the given figure, AGCD is a scalene triangle. EC & FC trisect £GCD. Similarly DE & DF trisect LCDG. Given
" LDGC = 114°, find £LDEC
G
C D

(i) 173° (ii) 168° (iii) 163° (iv) 188° (v) 158°

In the given figure, AFBC is a scalene triangle. DB & EB trisect £ZFBC. Similarly CD & CE trisect £BCF. Given

>7. £LCFB = 102°, find LCEB

F

B C

(i) 143° (i) 133° (iii) 158° (iv) 138° (v) 128°



58 In the given figure, AB , BC , CD and DE are chords and AD , BE are diameters passing through the centre O. If
" LAOB = 65°. Find ZBCD

C

(i) 122.5° (ii) 127.5° (iii) 137.5° (iv) 132.5° (v) 152.5°

59 In the given figure, IJKLMN is a regular hexagon inscribed in a circle with centre O. Which of the following are

true?

a) LJMK = 30°
b) £JOL = 120°
c) LIK] = 60°
d) LNLK = 90°
e) LION = 60°

M
N< 0 K
| ]

(i) {c,a} (i) {cea} (i) {ab,de} (iv) {cd} (v) {cb}

60. In the given figure, FGHI] is a regular pentagon . Find £FJH

|
F G

(i) 82° (ii) 72° (iii) 77° (iv) 87° (v) 102°




61.

62.

63.

Which of the following statements are true?

a) Angle subtended in the major segment is obtuse.

b) Angle subtended by the major arc in its alternate segment is obtuse.

c) If two chords are equal, then they are equidistant from the centre of the circle.
d) The angle subtended in a semicircle is a right angle.

e) Angle subtended by the major arc at the centre is acute.

(i) {e,c} (ii) {a,ed} (iii) {b,c,d} (iv) {a,b} (v) {ab,c}

In triangle BCD, if a circle is drawn with CD as diameter and if it passes through B it is a

(i) right angle triangle (ii) equilateral triangle (iii) acute angled triangle (iv) obtuse angled triangle

In the given figure, which of the following are true?

a) LB+ LCOD = 180°

b) LB+ LOCD = 90°

c) LB+ LOCD+£L0ODC=2/LB
d) LB+ £0ODC = 90°

e)

4B+ £0CD = 120°

(i) {a,b} (i) {e,a,b} (ii) {cd,b} (iv) {cd} (v) {b,d}

In the given figure, the bisectors of £LB, £LC & 4D of ABCD meet the circumcircle at E, F & G. If LB = 56°, find

" LE

(i) 72° (ii) 62° (iii) 67° (iv) 92° (v) 77°



65. In the given figure, which of the following angle pairs are equal?

(i) {@.j).(f.h).(k1).(e,9)} (i) {(g.j).(Lk),(i,h),(ef)} (i) {(e)).(fi).(g0).(hk)} (iv) {(.i).(Lf).(ek),(hg)}
(v) {(f.i).(k,j).(g,e).(l,h)}
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